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3 ตวัประกอบข้อสอบ TOEIC กับคะแนนที่คู่ควร (2: If Clause) 

 

If-Clause Song 

If you sing it, I will cry. 

If you sang it, I would die. 

If you have sung one more time, I would have said “good bye”. 

 

Example from TOEIC  

1. If Mr. Tsujioka won a free trip anywhere, he _________ to go to Brazil. 

(A) could have chosen   (B) would choose 

(C) will choose    (D) would have been choosing 

 

2. If their marketing team succeeds, they _________ their profit by 20 

percent 

(A) will have been increased  (B) would have been increasing 

(C) will increase    (D) would increase 

 

3. The reluctance of possible investment by potential suppliers _________ if 

they had some difficulties analyzing the financial situation. 

(A) had been increasing  (B) would have increased 

(C) would increase   (D) will increase 
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4. Alternative energies will never become economical unless governments 

___________ incentives to homeowners and corporations. 

(A) is providing    (B) provide 

(C) provided    (D) will provide 

 

5. If the financial situation of key players in tourism industry seems to be in 

trouble and unstable, _________ the whole picture of the circumstance to 

see whether it could possibly affect our firm. 

(A) analyze    (B) analyzing 

(C) to analyze     (D) analyzes 
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Example from CU-TEP  

 

1. If television had been invented a thousand years ago, will nations have been  

     1                                   2            3 

     significantly more homogeneous than they are now?   

                                            4 

 

2. It has been calculated that if the emission of greenhouse gases continues at the  

            1                                            2 

    present rate, the increase in temperature would have been enough to cause a rise in    

                                                     3 

     sea level of between 24 and 30 cm by 2030. 

                           4  

 

3. If drastic measures are not taken to reduce greenhouse gas emissions over the next  

                                   1  

     couple of decades, it is likely that many Arctic species and the indigenous peoples  

                                            2        

     which rely on them   would not have survived the 21
st
 century. 

                               3                         4 

 


